



A Study on Meromorphic Harmonic Starlike Functions by Using a New Generalized Differential Operator

F. Muge Sakar^{1*} and H. Ozlem Guney²

¹Department of Business Administration, Faculty of Management and Economics,
Batman University, 72060 Batman, Turkey.

²Department of Mathematics, Faculty of Science, Dicle University, 21280 Diyarbakır,
Turkey.

Authors' contributions

This work was carried out in collaboration with both authors. Author FMS planned, conducted this study and wrote the first draft of the manuscript. Author HOG participated in to interpretation of the results and supervision process. Both authors read and approved the final manuscript.

Article Information

DOI: 10.9734/AIR/2016/23045

Editor(s):

(1) Shi-Hai Dong, Professor of Department of Physics, School of Physics and Mathematics National Polytechnic Institute, Building 9, Unit Professional Adolfo Lopez Mateos, Mexico.

Reviewers:

(1) Doschoris Michael, University of Patras, Greece.

(2) Fethi Soltani, Tunis El Manar University, Tunisia.

Complete Peer review History: <http://sciencedomain.org/review-history/12877>

Received: 11th November 2015

Accepted: 24th December 2015

Published: 4th January 2016

Original Research Article

ABSTRACT

In this study, a new generalized differential operator \mathfrak{D} was obtained first. Then this new differential operator was used to introduce a new class $\mathcal{G}\mathcal{S}(n)$ of univalent meromorphic harmonic starlike functions exterior to the unit disc $\tilde{U} := \{z \mid |z| > 1\}$. Especially, coefficient bounds for this class have been examined. This coefficient condition is also necessary for the class $\overline{\mathcal{G}\mathcal{S}(n)}$ which is subclass of meromorphic harmonic functions. Furthermore, some other properties such as distortion theorems and extreme points for these classes were obtained and relevant results were given.

Keywords: Harmonic functions; meromorphic; starlike functions.

2010 Mathematics Subject Classification: 30C45; 30C50.

*Corresponding author: E-mail: mugesakar@hotmail.com;

1 INTRODUCTION

$f = u + iv$ is a complex harmonic function in a domain $\mathbb{D} \subset \mathbb{C}$ if each of u and v is real continuous harmonic functions in \mathbb{D} . In any simply connected domain, f is written in the form of $h + \bar{g}$ where both h and g are analytic in \mathbb{D} [1].

A necessary and sufficient condition for f to be locally univalent and orientation preserving in \mathbb{D} is that $|h'(z)| > |g'(z)|$ in \mathbb{D} [1]. The harmonic functions in the exterior of the unit disc $\tilde{\mathbb{U}} := \{z \mid |z| > 1\}$ were investigated by Hengartner and Schober in [2], and they were represented by the following equation of (1.1)

$$f(z) = h(z) + \overline{g(z)} + A \log |z|, \quad (1.1)$$

where

$h(z)$ and $g(z)$ are defined by

$$h(z) = \gamma z + \sum_{k=1}^{\infty} a_k z^{-k} \text{ and } g(z) = \beta z + \sum_{k=1}^{\infty} b_k z^{-k} \quad (1.2)$$

for $0 \leq |\beta| < |\gamma|$, $A \in \mathbb{C}$ and $z \in \tilde{\mathbb{U}}$. In addition, different classes of meromorphic harmonic functions have been studied by Jahangiri and Silverman [3], Jahangiri [4] and Murugusundaramoorthy [5,6]. Since harmonic functions are been used in many fields of sciences, new studies on harmonic functions are still of scientific interest.

In this study, a new operator \mathfrak{D} was defined for meromorphic harmonic functions in $\tilde{\mathbb{U}}$. The classes $\mathcal{GS}(n)$ and $\overline{\mathcal{GS}(n)}$ were also defined. Some properties of these classes, such as coefficient estimates and a distortion theorem, were then investigated. This new operator \mathfrak{D} is defined as follows:

$$\mathfrak{D}^0 f(z) = f(z)$$

$$\mathfrak{D}^1 f(z) = (\lambda - \alpha) \frac{\left(z^{\frac{\lambda-\alpha+1}{\lambda-\alpha}} g(z) \right)'}{z^{\frac{1}{\lambda-\alpha}}} - (\lambda - \alpha) z^{\frac{2\lambda-2\alpha+1}{\lambda-\alpha}} \left(\frac{h(z)}{z^{\frac{\lambda-\alpha+1}{\lambda-\alpha}}} \right)'$$

and for $n = 2, \dots$,

$$\mathfrak{D}^n f(z) = \mathfrak{D}(\mathfrak{D}^{n-1} f(z)).$$

Using this new operator,

$$\begin{aligned} \mathfrak{D}^n f(z) = & \gamma z + \sum_{k=1}^{\infty} [k(\lambda - \alpha) + (\lambda - \alpha + 1)]^n a_k z^{-k} \\ & + (2\lambda - 2\alpha + 1)^n \beta z + (-1)^n \sum_{k=1}^{\infty} [(k-1)(\lambda - \alpha) - 1]^n b_k z^{-k} \end{aligned}$$

was obtained for $n = 0, 1, \dots$, and $0 \leq (2\lambda - 2\alpha + 1)^n |\beta| < |\gamma|$.

Let $\mathcal{GS}(n)$ show the class of harmonic functions with sense preserving and univalent functions that consist of functions satisfying for $z \in \tilde{\mathbb{U}}$, $n \in \mathbb{N}_0 = \mathbb{N} \cup \{0\}$,

$$\Re \left\{ 2 - \frac{\mathfrak{D}^{n+1} f(z)}{\mathfrak{D}^n f(z)} \right\} > 0. \quad (1.3)$$

Also, let $\overline{\mathcal{GS}(n)}$ be the subclass of $\mathcal{GS}(n)$ which consists of meromorphic harmonic functions of the form of (1.4)

$$f_n(z) = h(z) + \overline{g_n(z)} = -\gamma z - \sum_{k=1}^{\infty} a_k z^{-k} + \beta z - (-1)^n \sum_{k=1}^{\infty} b_k z^{-k} \quad (1.4)$$

where $\gamma > \beta \geq 0, a_k \geq 0, b_k \geq 0$. A necessary and sufficient condition for f functions of the form (1.1) to be starlike in \tilde{U} is that

$$\frac{\partial}{\partial \theta} \arg(f(re^{i\theta})) = \Re \left\{ \frac{zh'(z) - \overline{zg'(z)}}{h(z) + \overline{g(z)}} \right\} > 0, \quad z \in \tilde{U}. \quad (1.5)$$

for each $z, |z| = r > 1$. This classification (1.5) for harmonic univalent functions was first used by Jahangiri [7].

2 COEFFICIENT INEQUALITIES

In this section, sufficient conditions of coefficient inequalities for $f(z)$ to belongs to the class $\mathcal{GS}(n)$ are obtained.

Theorem 2.1. *If $f(z) = h(z) + \overline{g(z)}$ where $\frac{1}{2} \leq \lambda - \alpha \leq 1, \alpha \geq 0, \lambda \geq 0, h(z)$ and $g(z)$ are of the form (1.2) and the inequality*

$$\sum_{k=1}^{\infty} [k(\lambda - \alpha) + (\lambda - \alpha + 1)]^n [k(\lambda - \alpha) + (\lambda - \alpha - 1)] |a_k| + \sum_{k=2}^{\infty} [(k-1)(\lambda - \alpha) - 1]^n [(k-1)(\lambda - \alpha) + 1] |b_k| + |b_1| \leq |\gamma| - (2\lambda - 2\alpha + 1)^n (2\lambda - 2\alpha - 1) |\beta| \quad (2.1)$$

is satisfied, then $f(z)$ is univalent, sense preserving and $f(z) \in \mathcal{GS}(n)$ in \tilde{U} .

Proof. We must show that if the condition (2.1) is satisfied, then $f(z) \in \mathcal{GS}(n)$. Hence, it is sufficient to show that $p_n(z)$ is in the class $\mathcal{GS}(n)$ which is the class of harmonic functions with positive real part.

$$|p_n(z) + 1| > |p_n(z) - 1|, \quad z \in \tilde{U}, \quad (2.2)$$

where

$$p_n(z) = \frac{2\mathfrak{D}^n f(z) - \mathfrak{D}^{n+1} f(z)}{\mathfrak{D}^n f(z)} \quad (2.3)$$

from (2.2) we obtain,

$$\frac{|3\mathfrak{D}^n f(z) - \mathfrak{D}^{n+1} f(z)|}{|\mathfrak{D}^n f(z)|} - \frac{|\mathfrak{D}^n f(z) - \mathfrak{D}^{n+1} f(z)|}{|\mathfrak{D}^n f(z)|} > 0. \quad (2.4)$$

Since

$$\begin{aligned} & |3\mathfrak{D}^n f(z) - \mathfrak{D}^{n+1} f(z)| - |\mathfrak{D}^n f(z) - \mathfrak{D}^{n+1} f(z)| \\ = & |2\gamma z + \sum_{k=1}^{\infty} [k(\lambda - \alpha) + (\lambda - \alpha + 1)]^n [-k(\lambda - \alpha) + (-\lambda + \alpha + 2)] a_k z^{-k} + \overline{(2\lambda - 2\alpha + 1)^n (2 - 2\lambda + 2\alpha)\beta z} \\ & + (-1)^n \sum_{k=1}^{\infty} [(k-1)(\lambda - \alpha) - 1]^n [(k-1)(\lambda - \alpha) + 2] b_k z^{-k}| \\ - & |\sum_{k=1}^{\infty} [k(\lambda - \alpha) + (\lambda - \alpha + 1)]^n [-k(\lambda - \alpha) - (\lambda - \alpha)] a_k z^{-k} + \overline{(2\lambda - 2\alpha + 1)^n (-2\lambda + 2\alpha)\beta z} \\ & + (-1)^n \sum_{k=1}^{\infty} [(k-1)(\lambda - \alpha) - 1]^n [(k-1)(\lambda - \alpha)] b_k z^{-k}| \end{aligned}$$

$$\begin{aligned}
 &\geq 2|\gamma||z| - \left| \sum_{k=1}^{\infty} [k(\lambda-\alpha) + (\lambda-\alpha+1)]^n [-k(\lambda-\alpha) - (\lambda-\alpha-2)] a_k z^{-k} \right| - |(2\lambda-2\alpha+1)^n (2-2\lambda+2\alpha)\beta z| - 2|b_1||z|^{-1} \\
 &- \left| \sum_{k=2}^{\infty} [(k-1)(\lambda-\alpha) - 1]^n [(k-1)(\lambda-\alpha) + 2] b_k z^{-k} \right| - \left| \sum_{k=1}^{\infty} [k(\lambda-\alpha) + (\lambda-\alpha+1)]^n [-k(\lambda-\alpha) - (\lambda-\alpha)] a_k z^{-k} \right| \\
 &\quad - |(2\lambda-2\alpha+1)^n (-2\lambda+2\alpha)\beta z| - \left| \sum_{k=2}^{\infty} [(k-1)(\lambda-\alpha) - 1]^n [(k-1)(\lambda-\alpha)] b_k z^{-k} \right| \\
 &\geq 2|\gamma||z| - \sum_{k=1}^{\infty} |[k(\lambda-\alpha) + (\lambda-\alpha+1)]^n [-k(\lambda-\alpha) - (\lambda-\alpha-2)]| |a_k||z|^{-k} - |(2\lambda-2\alpha+1)^n (2-2\lambda+2\alpha)| |\beta||z| \\
 &- \sum_{k=2}^{\infty} |[[(k-1)(\lambda-\alpha) - 1]^n [(k-1)(\lambda-\alpha) + 2]]| |b_k||z|^{-k} - 2|b_1| \\
 &\quad - \sum_{k=1}^{\infty} |[k(\lambda-\alpha) + (\lambda-\alpha+1)]^n [-k(\lambda-\alpha) - (\lambda-\alpha)]| |a_k||z|^{-k} \\
 &\quad - |(2\lambda-2\alpha+1)^n (-2\lambda+2\alpha)| |\beta||z| - \sum_{k=2}^{\infty} |[[(k-1)(\lambda-\alpha) - 1]^n [(k-1)(\lambda-\alpha)]]| |b_k||z|^{-k} \\
 &\geq 2\{|\gamma| - \sum_{k=1}^{\infty} [k(\lambda-\alpha) + (\lambda-\alpha+1)]^n [k(\lambda-\alpha) + (\lambda-\alpha-1)] |a_k| - (2\lambda-2\alpha+1)^n (2\lambda-2\alpha-1) |\beta| \\
 &\quad - |b_1| - \sum_{k=2}^{\infty} [[(k-1)(\lambda-\alpha) - 1]^n [(k-1)(\lambda-\alpha) + 1]] |b_k|\} \geq 0. \tag{2.5}
 \end{aligned}$$

So the proof of Theorem 2.1 is complete. □

In the following theorem we show that the sufficient coefficient condition given by (2.1) is also necessary for the family $\mathcal{GS}(n)$.

Theorem 2.2. Let $f_n(z) = h(z) + \overline{g_n(z)}$. Then $f_n(z) \in \overline{\mathcal{GS}(n)}$ if and only if

$$\begin{aligned}
 &\sum_{k=1}^{\infty} [k(\lambda-\alpha) + (\lambda-\alpha+1)]^n [k(\lambda-\alpha) + (\lambda-\alpha-1)] a_k \\
 &+ \sum_{k=2}^{\infty} [[(k-1)(\lambda-\alpha) - 1]^n [(k-1)(\lambda-\alpha) + 1]] b_k + b_1 \leq \gamma - (2\lambda-2\alpha+1)^n (2\lambda-2\alpha-1) \beta. \tag{2.6}
 \end{aligned}$$

Proof. Taking into account of Theorem 2.1, we need to prove the "only if" part, since $\overline{\mathcal{GS}(n)} \subset \mathcal{GS}(n)$. Let $f_n(z) \in \overline{\mathcal{GS}(n)}$, and z be a complex number. If $\Re(z) > 0$ then $\Re(\frac{1}{z}) > 0$. Therefore, we obtained that as follows.

$$\begin{aligned}
 0 &< \Re \left\{ \frac{\mathfrak{D}^n f(z)}{2\mathfrak{D}^n f(z) - \mathfrak{D}^{n+1} f(z)} \right\} \leq \left| \frac{\mathfrak{D}^n f(z)}{2\mathfrak{D}^n f(z) - \mathfrak{D}^{n+1} f(z)} \right| \\
 &= \left| \frac{-\gamma z - \sum_{k=1}^{\infty} A a_k z^{-k} + (2\lambda-2\alpha+1)^n \beta z - (-1)^n \sum_{k=1}^{\infty} C b_k z^{-k}}{-\gamma z + \sum_{k=1}^{\infty} A B a_k z^{-k} + (2\lambda-2\alpha+1)^n (-2\lambda+2\alpha+1) \beta z - (-1)^n \sum_{k=1}^{\infty} C D b_k z^{-k}} \right|
 \end{aligned}$$

$$\begin{aligned} &\leq \frac{\gamma|z| + \sum_{k=1}^{\infty} Aa_k|z|^{-k} + (2\lambda - 2\alpha + 1)^n\beta|z| + \sum_{k=2}^{\infty} Cb_k|z|^{-k} + b_1|z|^{-k}}{\gamma|z| - \sum_{k=1}^{\infty} ABa_k|z|^{-k} - (2\lambda - 2\alpha + 1)^n(2\lambda - 2\alpha - 1)\beta|z| - \sum_{k=2}^{\infty} CDb_k|z|^{-k} - b_1|z|^{-k}} \\ &< \frac{\gamma + \sum_{k=1}^{\infty} Aa_k + (2\lambda - 2\alpha + 1)^n\beta + \sum_{k=2}^{\infty} Cb_k + b_1}{\gamma - \sum_{k=1}^{\infty} ABa_k - (2\lambda - 2\alpha + 1)^n(2\lambda - 2\alpha - 1)\beta - \sum_{k=2}^{\infty} CDb_k - b_1}. \end{aligned} \tag{2.7}$$

where

$$A = [k(\lambda - \alpha) + (\lambda - \alpha + 1)]^n, B = [k(\lambda - \alpha) + (\lambda - \alpha - 1)], C = [(k - 1)(\lambda - \alpha) - 1]^n, D = [(k - 1)(\lambda - \alpha) + 1].$$

The inequation (2.7) leads to the following inequality.

$$\begin{aligned} \sum_{k=1}^{\infty} [k(\lambda - \alpha) + (\lambda - \alpha + 1)]^n [k(\lambda - \alpha) + (\lambda - \alpha - 1)] a_k + \sum_{k=2}^{\infty} [(k - 1)(\lambda - \alpha) - 1]^n [(k - 1)(\lambda - \alpha) + 1] b_k + b_1 \\ \leq \gamma - (2\lambda - 2\alpha + 1)^n (2\lambda - 2\alpha - 1)\beta. \end{aligned}$$

So, the proof of the theorem is being completed. \square

3 A DISTORTION THEOREM AND EXTREME POINTS

In this section we will obtain distortion bounds and extreme points for functions $f(z) \in \overline{\mathcal{GS}(n)}$ which f_n is defined by (1.4).

Theorem 3.1. *Let the function $f_n(z)$ be in the class $\overline{\mathcal{GS}(n)}$. Then for $0 < |z| = r < 1$, we have*

$$(\gamma - \beta)r - [\gamma - (2\lambda - 2\alpha + 1)^n (2\lambda - 2\alpha - 1)\beta]r^{-1} \leq |f_n(z)| \leq (\gamma + \beta)r + [\gamma - (2\lambda - 2\alpha + 1)^n (2\lambda - 2\alpha - 1)\beta]r^{-1}. \tag{3.1}$$

Proof. Taking into account of Theorem 2.2, for $0 < |z| = r < 1$, we obtain

$$\begin{aligned} |f_n(z)| &= \left| -\gamma z - \sum_{k=1}^{\infty} a_k z^{-k} + \beta z - (-1)^n \sum_{k=1}^{\infty} b_k z^{-k} \right| \\ &\leq \gamma r + \beta r + \sum_{k=1}^{\infty} (a_k + b_k) r^{-k} \leq \gamma r + \beta r + \sum_{k=1}^{\infty} (a_k + b_k) r^{-1} \\ &\leq \gamma r + \beta r + r^{-1} \left(\sum_{k=1}^{\infty} [k(\lambda - \alpha) + (\lambda - \alpha + 1)]^n [k(\lambda - \alpha) + (\lambda - \alpha - 1)] a_k \right. \\ &\quad \left. + \sum_{k=2}^{\infty} [(k - 1)(\lambda - \alpha) - 1]^n [(k - 1)(\lambda - \alpha) + 1] b_k + b_1 \right) \\ &\leq (\gamma + \beta)r + [\gamma - (2\lambda - 2\alpha + 1)^n (2\lambda - 2\alpha - 1)\beta]r^{-1} \end{aligned}$$

by the coefficient inequality in (2.6). \square

The distortion bounds given in Theorem 3.1 is valid for functions $f_n = h + \overline{g_n}$ which is given in the form (1.4) and it is also known that the bounds is valid for functions of the form $f = h + \overline{g}$ where h and g are given by (1.2) if the coefficient condition (2.1) is satisfied.

The extreme points of closed convex hulls of $\overline{\mathcal{GS}(n)}$ denoted by $clco\overline{\mathcal{GS}(n)}$ were determined in the next theorem.

Theorem 3.2. Let $f_n = h + \overline{g_n}$ is given by (1.4). Let be $\lambda - \alpha \geq 1$. Then, $f_n \in \text{clco}\overline{\mathcal{GS}(n)}$ if and only if it can be expressed as

$$f_n(z) = \sum_{k=0}^{\infty} [x_k h_{n,k}(z) + y_k g_{n,k}(z)]$$

where $x_k \geq 0, y_k \geq 0$ and $\sum_{k=0}^{\infty} (x_k + y_k) = \gamma$

$$h_{n,0}(z) = -z, \quad g_{n,0}(z) = -z + \frac{\bar{z}}{(2\lambda - 2\alpha + 1)^n (2\lambda - 2\alpha - 1)}, \quad g_{n,1}(z) = -z - (-1)^n \bar{z}^{-1},$$

$$h_{n,k}(z) = -z - \frac{1}{[k(\lambda - \alpha) + (\lambda - \alpha + 1)]^n [k(\lambda - \alpha) + (\lambda - \alpha - 1)]} z^{-k}, \quad k \geq 1 \quad \text{and}$$

$$g_{n,k}(z) = -z - \frac{(-1)^n}{[(k-1)(\lambda - \alpha) - 1]^n [(k-1)(\lambda - \alpha) + 1]} \bar{z}^{-k}, \quad k \geq 2$$

In particular, the extreme points of $\overline{\mathcal{GS}(n)}$ are $\{h_{n,k}\}$ and $\{g_{n,k}\}$.

Proof. For $\lambda - \alpha > 1$, let

$$f_n(z) = \sum_{k=0}^{\infty} [x_k h_{n,k}(z) + y_k g_{n,k}(z)]$$

where $x_k \geq 0, y_k \geq 0$ and $\sum_{k=0}^{\infty} (x_k + y_k) = \gamma$.

Then we have

$$\begin{aligned} f_n(z) &= \sum_{k=0}^{\infty} [x_k h_{n,k}(z) + y_k g_{n,k}(z)] \\ &= x_0 h_{n,0}(z) + \sum_{k=1}^{\infty} x_k \left[-z - \frac{1}{[k(\lambda - \alpha) + (\lambda - \alpha + 1)]^n [k(\lambda - \alpha) + (\lambda - \alpha - 1)]} z^{-k} \right] \\ &\quad + y_0 g_{n,0}(z) + y_1 g_{n,1}(z) + \sum_{k=2}^{\infty} y_k \left[-z - \frac{(-1)^n}{[(k-1)(\lambda - \alpha) - 1]^n [(k-1)(\lambda - \alpha) + 1]} \bar{z}^{-k} \right] \\ &= - \sum_{k=0}^{\infty} (x_k + y_k) z - \sum_{k=1}^{\infty} \frac{x_k}{[k(\lambda - \alpha) + (\lambda - \alpha + 1)]^n [k(\lambda - \alpha) + (\lambda - \alpha - 1)]} z^{-k} \\ &\quad + \left[\frac{y_0}{[(2\lambda - 2\alpha + 1)^n (2\lambda - 2\alpha - 1)]} \bar{z} - (-1)^n y_1 \bar{z}^{-1} - (-1)^n \sum_{k=2}^{\infty} \frac{y_k}{[(k-1)(\lambda - \alpha) - 1]^n [(k-1)(\lambda - \alpha) + 1]} \bar{z}^{-k} \right] \\ &= -\gamma z - \sum_{k=1}^{\infty} \frac{x_k}{[k(\lambda - \alpha) + (\lambda - \alpha + 1)]^n [k(\lambda - \alpha) + (\lambda - \alpha - 1)]} z^{-k} \\ &\quad + \left[\frac{y_0}{[(2\lambda - 2\alpha + 1)^n (2\lambda - 2\alpha - 1)]} \bar{z} - (-1)^n y_1 \bar{z}^{-1} - (-1)^n \sum_{k=2}^{\infty} \frac{y_k}{[(k-1)(\lambda - \alpha) - 1]^n [(k-1)(\lambda - \alpha) + 1]} \bar{z}^{-k} \right]. \end{aligned}$$

Since

$$\begin{aligned} &\sum_{k=1}^{\infty} [k(\lambda - \alpha) + (\lambda - \alpha + 1)]^n [k(\lambda - \alpha) + (\lambda - \alpha - 1)] \frac{x_k}{[k(\lambda - \alpha) + (\lambda - \alpha + 1)]^n [k(\lambda - \alpha) + (\lambda - \alpha - 1)]} \\ &\quad + \sum_{k=2}^{\infty} [(k-1)(\lambda - \alpha) - 1]^n [(k-1)(\lambda - \alpha) + 1] \frac{y_k}{[(k-1)(\lambda - \alpha) - 1]^n [(k-1)(\lambda - \alpha) + 1]} + y_1 \\ &= \left(\sum_{k=1}^{\infty} x_k + y_1 + \sum_{k=2}^{\infty} y_k \right) \end{aligned}$$

$$= \gamma - y_0 - x_0 \leq \gamma - [(2\lambda - 2\alpha + 1)^n(2\lambda - 2\alpha - 1)] \frac{y_0}{[(2\lambda - 2\alpha + 1)^n(2\lambda - 2\alpha - 1)]}$$

by Theorem (2.2), so $f_n(z) \in clco\overline{GS}(n)$. Conversely, suppose that $f_n(z) \in clco\overline{GS}(n)$, then we may write

$$f_n(z) = h(z) + \overline{g_n(z)} = -\gamma z - \sum_{k=1}^{\infty} a_k z^{-k} + \beta z - (-1)^n \sum_{k=1}^{\infty} b_k z^{-k}$$

where $\gamma > \beta \geq 0, a_k \geq 0, b_k \geq 0$. We set

$$a_k = \frac{x_k}{[k(\lambda - \alpha) + (\lambda - \alpha + 1)]^n [k(\lambda - \alpha) + (\lambda - \alpha - 1)]}, k = 1, 2, \dots,$$

$$\beta = \frac{y_0}{[(2\lambda - 2\alpha + 1)^n(2\lambda - 2\alpha - 1)]}, \quad b_1 = y_1,$$

$$b_k = \frac{y_k}{[(k-1)(\lambda - \alpha) - 1]^n [(k-1)(\lambda - \alpha) + 1]}, k = 2, \dots$$

Hence we obtain

$$\begin{aligned} f_n(z) &= h(z) + \overline{g_n(z)} = -\gamma z - \sum_{k=1}^{\infty} a_k z^{-k} + \beta z - (-1)^n \sum_{k=1}^{\infty} b_k z^{-k} \\ &= -\sum_{k=0}^{\infty} (x_k + y_k) z^{-k} - \sum_{k=1}^{\infty} \frac{x_k}{[k(\lambda - \alpha) + (\lambda - \alpha + 1)]^n [k(\lambda - \alpha) + (\lambda - \alpha - 1)]} z^{-k} \\ &+ \frac{y_0}{[(2\lambda - 2\alpha + 1)^n(2\lambda - 2\alpha - 1)]} \bar{z} - (-1)^n y_1 \bar{z}^{-1} - \sum_{k=2}^{\infty} \frac{(-1)^n y_k}{[(k-1)(\lambda - \alpha) - 1]^n [(k-1)(\lambda - \alpha) + 1]} \bar{z}^{-k} \\ &= x_0(-z) + \sum_{k=1}^{\infty} x_k \left[-z - \frac{1}{[k(\lambda - \alpha) + (\lambda - \alpha + 1)]^n [k(\lambda - \alpha) + (\lambda - \alpha - 1)]} z^{-k} \right] \\ &+ y_0 \left(-z + \frac{\bar{z}}{[(2\lambda - 2\alpha + 1)^n(2\lambda - 2\alpha - 1)]} \right) + y_1(-z - (-1)^n \bar{z}^{-1}) \\ &+ \sum_{k=2}^{\infty} y_k \left[-z - \frac{(-1)^n}{[(k-1)(\lambda - \alpha) - 1]^n [(k-1)(\lambda - \alpha) + 1]} \bar{z}^{-k} \right]. \end{aligned}$$

Consequently we obtain following relation as required

$$f_n(z) = \sum_{k=0}^{\infty} [x_k h_{n,k}(z) + y_k g_{n,k}(z)].$$

For $\lambda - \alpha = 1$, we obtain the results of Theorem (6) in [8]. So we avoid giving proof of Theorem (3.2), for this case.

This completes the proof of Theorem (3.2). □

4 CONCLUSIONS

Some new classes of meromorphic harmonic starlike functions involving a new generalized differential operator exterior to the unit disc $\tilde{U} := \{z \mid |z| > 1\}$ were introduced. Some

characteristic properties of these classes are also investigated. Furthermore, For $\lambda = 1$ and $\alpha = 0$ we obtain the results in [8]. Also for $n = 0$ coincides with that given by [3]. Therefore, this work may be considered as a generalization form of earlier works.

COMPETING INTERESTS

The authors declare that no competing interests exist.

References

- [1] Clunie J, Sheil-Small T. Harmonic univalent functions. Ann. Acad. Sci. Fenn. Ser. Al. Math. 1984;9:3-25.
- [2] Hengartner W, Schober G. Univalent harmonic functions. Trans. Amer. Math. Soc. 1987;299(1):1-31.
- [3] Jahangiri JM, Silverman H. Meromorphic univalent harmonic functions with negative coefficients. Bull. Korean Math. Soc. 1999; 36(4):763-770.
- [4] Jahangiri JM. Harmonic meromorphic starlike functions. Bull. Korean Math. Soc. 2000;37(2):291-301.
- [5] Murugusundaramoorthy G. Starlikeness of multivalent meromorphic harmonic functions. Bull. Korean Math. Soc. 2003;40(4):553-564.
- [6] Murugusundaramoorthy G. Harmonic meromorphic convex functions with missing coefficients. J. Indones. Math. Soc. (MIHMI). 2004;10(1):15-22.
- [7] Jahangiri JM. Coefficients bounds and univalence criteria for harmonic functions with negative coefficients. Ann. Univ. Mariae Curie-Sklodowska. Sec. A. 1998;52:57-66.
- [8] Bostanci H, Ozturk M. A new subclass of the meromorphic harmonic starlike functions. Appl Math. Let. 2010;23:1027-1032.

© 2016 Sakar and Guney; This is an Open Access article distributed under the terms of the Creative Commons Attribution License <http://creativecommons.org/licenses/by/4.0>, which permits unrestricted use, distribution, and reproduction in any medium, provided the original work is properly cited.

Peer-review history:

The peer review history for this paper can be accessed here:
<http://sciencedomain.org/review-history/12877>